
BADALONA

2082×500×191
2

504×497×193
4

492×423×195
6

891×220×67
8

1140×246×209

EX

ST

B

S-16
3,5x16 mm

C2

Name

Typ

Service

T 30 - TV ELEMENT

Ø15x12 mm

?

T1

D1

Ø8x32 mm

S2-16L
4x16 mm

GL

64 mm

A2

77x20x15 mm

P1

16.11.2023.

PG

D2

Ø6x32 mm

S1-20
3x20 mm

S-25
3,5x25 mm

ES

6,3x13mm
R40-Hettich

400mm

492×911×3

PC

Ø7/9×4mm

H3
15mm

12

M10

M4x10 mm

2082×500×19

504×497×19

1112×400×200

11
12

496×450×20
1982×80×18

H8 14

W3 M40

M4x40 mm

S-30
3,5x30 mm

0mm

P2

3mm

12

14

1

2

3

4

5

6

6

7
8

9

9

14

12

10

11

10 496×450×20

13 364×80×18

14 508×2056×3

12

13

13

13

KS

42x20x20

  L1

AutoCAD SHX Text
0

AutoCAD SHX Text
10

AutoCAD SHX Text
20

AutoCAD SHX Text
30

AutoCAD SHX Text
40

AutoCAD SHX Text
50

AutoCAD SHX Text
60

AutoCAD SHX Text
70



1/1

20
Min.

Modellname: BADALONA           MONTAGEANLEITUNG
  TYPE T30 - TV ELEMENT

×8

ST

×12

C2

PG

64 mm ×6
S2-16L
4x16 mm

A2

×2 ×2

16.11.2023.

×4

M10

M4x10 mm

S1-20

Schublade mit 3×20mm schrauben an die
Unterführungschine befestigt

HETTICH

PC

Ø7/9×4mm

77x20x15 mm

W3

×4

×8

M40

M4x40 mm

×4

A2

3.

4.

5.

Achtung:
A B C

A
C

B

4
8

1.

2.

6.

7.
S2-16L

A2

15

2 Persons

M10

PG

+
PC

C2

!!
W3

30 kg

STM40

PG

8 kg

8 kg

AutoCAD SHX Text
EXTENSION LOSS (AV)

AutoCAD SHX Text
+3mm

AutoCAD SHX Text
Vertical adjustment

AutoCAD SHX Text
AV



Modellname: BADALONA                      OPTIONAL
 BELEUCHTUNG

16.11.2023.

Ca.43cm

Ca.43cm

A B

C D

E F

x1

OPTION
005042ZB_ BEL.

x1

005091ZB Mem.Funk

Ca.3cm


	Sheets and Views
	Badalona - T30 service-Prva
	Badalona - T30 service-Druga
	Badalona - T30 service-rasvjeta


